D
C
0
B
A

Zlo
EEE \\V
% gl )C
Y4 3k N
| N - (m)
JH=s 0
< g3 Q X e
o = AN
© )
A g U
£ ™ Q)
\ B g E|n <2 N
& M WmZ Zm N —
3 1L aii| of C
- o Z <t
~N 5 N= MT
N ) n ©
N w 223 =2 O>5 ___a
3 3 2=l° S = —
o w s 22|l xw e
[a0] —
o |R I L
< w £ .m..m OC
= N o > &m L
2 So| Zm |3l <
S T m | C :
w 5 s2lw .|z B O©
3 cg| LM L~ | OO
c |I< © = ) O =
o (@] o © N E% 5
\ J E |5 Q@ O D |FO®
= e (2 0 o
/ 2 1E 20| NI WSS )
« o |© © O CS.nqu
[a) W > © N5n T
% T © Sl=5
- z P o 0S8 L
78l 5 £ Dl
n N An.ﬂum.
o0

. T
El

_—9x30
X=[s]
M

X

L
]
|
'F
<A1
¥
¥
www.niedaxfrance.fr

I LA

Ly 7 08

(Cable tray)

Chemin de cables tole

(Mesh tray)

Vis TRL M6x20 + écrou rainuré
(BP TRL M6x20 + Nut M6 Strut)

Boulon TRL M6x40
+ Clame U40
(Bolt TRL M6x40 + Clamp U40)

"\ X
A\

BP TRL M6x30 HE




